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Math 2050 Test 1 February 1, 2010 :
Instructor Margo Kondratieva
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1. Sketch points with coordinates A(—4,3), B(2,—1) and C(1,4) and find the following:
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[5] AS vectors BA mbm BC and their norms
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[5] (c) the dot product of vectors BA and BC

gh ve = CIDr S =26

- Answer : 2 m
[5] (d) @m smallest angle between vectors m.\.» and BC
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[5] (f) the area of the Embmpm >w0 .
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2. [5] Prove that |acosa + bsina| < v/aZ + b2 for any numbers a, b, .
Hint: use Cauchy-Schwartz inequality for wvvwovamﬁm vectors.
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3. [10] Find equation of the gm which is the intersection of the plane 2z + z = 6 and another
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Qoumamw a plane given by 3553 ma 3y + z2=20

-[5] (a) Find equation of the Embm parallel ﬁo the plane given above and passing ﬁ:.o:mr the
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[5] (b) Find equation of the line Sgow is orthogonal to the Embm given mdo<m and passing
through the point (1, -1 1),
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[10] Find numbers a and b such that the two lines
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intersect at the right angle. What are ooo&EwﬁmM of the point of intersection?
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